
Solution: 

EXAMPLE 5 

Solution: 

b 90,00,00.000 + 5,00,00,000 + 60,00,000 1,00,000 0000 

95,61,97,053 

Give the period and place value of the underlined digits of the 
following numbers 

7,000 + 0 + 50 + 3 

(a) 3,29,40,783 

(c) 8,16,65,563 

Number 

(a) 3,29,40,783 

(b) 26.25,71,816 

(c) 8,16,65,563 

(d) 32,05,52,265 

(a) 1,21,43,654 

(b) 21,09,54,378 

(c) 38,69,56,024 

Period 

Lakhs 

Crores 

Lakhs 

8,10,50 68O 

Crores 

theusar si 

(d) 80,50,50,550 Eighla cte 

(b) 26.25,71,816 

EXERCISE 2(A) 

1 Write the number name for each of the following: 

(d) 32,05,52.265 

Place Value 

9 is in the lakh's place. 
9x1 lakh = 9,00,000 

6 is in the crore's place. 
6 x 1 crore = 6,00,00,000 

1 is in the ten lakh's place. 
1x 10 lakh = 10,00,000 

9) 

3 is in the ten crore's place. 
3x 10 crores = 30,00,00,000 

theusandthae husdaid 

Ene dakh, foty thne 
hndd 

hundis y 

foun 

(a) Eight crore seventy lakh fifty thousand six hundred eighty. 

2 Write the numeral for each of the following (either give space or put a comma at 

the proper place) : 

eigkt 

thousao 



(b) Four crore nine lakh twenty four thousand four hundred ninety six. 

4,09,a4,4 96 
(C) Ten crore twelve lakh thirty six thousand two hundred twenty five. 

(0,I2, 36 285 
(d) Sixty six thousand seven hundred eight. b6,408 
(e) Eighty crore seventy five thousand. 

3 Give the expanded form of the following numbers : 

(a) 1,28,14,601 L0 ooD0000o00+8 oo 000 -lo000+0DD 
+600+o+ 

(b) 16,22,81,946'looooo o00 +600 000 D0o DO00D 

(c) 24,16,56,782 20,o0,b0,Do0 +o900000 F|O,00, Do0t 
6,0o,000 +Sopoo t6oo0+Hoo 4R0+ 

(d) 18,68,18,127 1o,00, 00, o00t-p D0, 000++6o, o0, 000 
B,o0D00+ lo,o0043,DOD+ \oD+Q0+t 

80,00, 

(e) 32,05,20,600 30,0o, 00000-t p0,00,o DO +0S,00,000o 
Qo,Do0+0+6oD+o 

4 Give the compact form of the following: 
(a) 20,00,00,000+6,00,00,000+80,00,000-+4,00,000+20,000+7,000+300+50+6 

684243s6 
(b) 30,00,00,000+8,00,00,000+40,00,000+6,00,000+40,000+2,000+300+40+6 

384642346 
(c) 50,00,00,000+7,00,00,000+50,00,000+6,00,000+80,000+3,000+100+90+2 

Ss6,83,L92. 
(d) 80,00,00,000 +5,00,00,000 + 20,00,000 +0+ 20,000 + 5.000 + 500 + 50 + 5 

85,30,25,55S 
10 

45, o00 



(e) 
60,00,00,000 + 0. 

Write the period of the digit underlined in each of the following: 
(a) 18,76, 12,684 

(c) 6,46,84, 754 

(a) 58,08,46,763 

(c) 96,19,68,407 

6 Write the place value of the underlined digit in each of the following: 

(a) 36,70,59,963 

(b) 65,19,42,480 

60,810,0081 

(c) 17,42,18,168 

(d) 29,57,62,774 

theusand 

(e) 2,43,28,309 

8,09,000o 
40,00,00, 0D0 

7 W Write the period and place value of the underlined digits in the following : 

Period 

theusand 
huindl 
lakh 

(a) the two 4s in 7,48,65,421 

(b) the two 8s in 18,36,84,792 

(c) the two 5s in 56,25,70,083 

(b) 8,14,25,482 

(d) the two 2s in 16,29,15,245 

(d) 16,84,35,135 

(e) the two 6s in 61,42,69,104 

(b) 8,14,25,482 

8 Find the difference between the place value of: 

(d) 6,23,45,679 

6,00,00,000 
60,00,00,o00 
8,000 

11 

HO,00,�00 

Place Value 

40,00,000 � 400 = 39,99,600 

6o 00,00,oo0 -60000 

S,00D 
20,00,Do0 

9 Arrange the following in ascending and descending order : 

(a) 23,16,348; 8,62,16,438: 8,26,99,678; 45,42,18,089 

59,)9, 4o Doo 

fsunding: 23, I6 348,8,26,94,6 43 , 862,16,438 4S,42,(8,089 
oedin s4a, 18 p81 8,63 16,4 38; 8,229,648, 3,(6,348 

0 +80,00,000 + 1,00,000 + 40,000 + 0 +0 + 80 + 1 



(b) 3,48,616;95,949;24,26, 16,800 ; 88,95,919 

Asunda 15144 3,48, I4 88,15,1 14, R426,16, 8oo 
8345915 3,48,6 l6j 45,94Ë 

(c) 64,00,18,926 ; 9,90,909; 1,42,65,814 ; 66,25,576 

Andy 910,409, b6, 25,5H6 

dudng 9,?4,348 
Dauend lolo,19, 104 

(d) 541,10,105; 10,10,10,104;92,85,368;9,94,248 

(a) 3, 4, 5, 6, 9, 8, 1 

(e) 68,59,795 ; 1,16,04,616;1,61,04,661 ;2,18,68,714 

(b) 3, 5, 7, 9, 2, 4, 6, 8 

(c) 1,2, 3, 0, 4, 5, 6, 7 

Asurdg 68,59,19s ,lk,04,6 lb ,6,Du,661 2,18,66, 314 

(d) 0, 9, 8, 6, 5, 4, 7,2 

10 Write the smallest and the largest number using each digit only once: 

(e) 3, 5, 7,9, 2, 0, 4, 8 

11 Which is the largest : 
(a) 5 digit number 

(c) 7 digit number 

92,85,368 
5,,1D, Ios 

12 Which is the smallest: 

(a) 5 digit number 

', 

(c) 7 digit number 

1,42,65, 84y uDo,18, 924 

5,4I, 1o,105 
42,85,362: 

The smallest Number 

2p345+39 

94999 
qqq9999 

13,45,689 
2434s6 489 

12 

101010, D4 
9,94, 242. 

The largest Number 

(b) 6 digit number 

(d) 8 digit number 

lo000 
Jo00o00 (d) 8 digit number 

48 165432 
H6s44,210 
9346s420 
934s4320 

(b) 6 digit number 

48,65,431 

999991 
99117 

lo0po0 
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